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1. In this problem y = cos (3z + 1).

® Do _sin (za+1) D [zaer] = ~sin (3x+1) 3
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2. Find the derivative of y = tan (:c3 — 5z% + 3)
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3. Find the derivative of y = sin (2¢").
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4. Information about functions f(z), g(z) and their derivatives is given below. Let h(z) = f(g(z)).

(a) Find h'{4
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(c) Find the equation of the tangent line to the graph of y = h(z) at (4, h(4)).
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1. In this problem y = sin (z*).

(a) j—i: ¢ oS (xa) 2 X = 2x Cos (7(2')
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2. Find the derivative of y = cos
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3. Find the derivative of y = tan( 3 — bg? +3) _ 02 >< | 2 \r;é |
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4. Information about functions f(z), g(z) and their derivatives is given below. Let h(z) = f{g(z)).
~ (a) Find #'(2
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(b) Find A(2).

W) =£(32)) = £0) =[-3]

(c) Find the equation of the tangent line to the graph of y = h(z) (2, h(2)).
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1. In this problem y = cos (2z + 1).

@ Wo -5ty (2x+1 ) (240) :—.(-2 sin (2x+1) 2

) 2= -1(@05 (zxw)(zw\) :/-;@5 (zxw)? o

2. Find the derivative of y = sin (a: -+ 5)

%‘2: LCOS(X - X +—5)(5>< -(J
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3. Find the derivative of y = tan (26”‘" + a:z).
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4. Tnformation about functions f(z), g(z) and their derivatives is given below. Let h{z) = f(g(z)}.

) Find h'(6
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(b) Find A(6
200 ) =4 (5(¢) )-:7&(5 12|
Find the equation of the tangent line tq the graph of y = h(z 6, h(6)).
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1. In this problem y = cos (:1:2)

(a) j—i= *'"um()( )235 —sz sm(x ] (C/@me !&Jﬁe}
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2. Fmd the derivative of y = tan ( W ( X /2. |
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3. Find the derivative of y = sin (9:3 — 5z? %

ij: CoS (;{ L5 K )(sz—lox)

4. Information about functions f(z), g(z) and their derivatives is given below. Let h(z) = f(9(z))-

(a) Find K/(1). _
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(b) Find A(1). ,7; Z '
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(¢) Find the equation of ::he ta,ngerf line to the%élf y = h(z) at (1, h(l)).
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